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QUESTION 1
1.1 False
1.2 False
1.3 True
1.4 True
1.5 False
(5 x 2) [10]
QUESTION 2
2.1 Chaining is a common site namev given to all taping work.v’
2.2 It is horizontal directionv’ between any two pointsv’ defined in degrees,
minutes and seconds.
2.3 Cadastral surveying is a branch of survey, related to the preparation of plans
andv’ showing and defining legal property boundaries.v’
2.4 Parallax is when the cross hairs in the telescope and sighted objectv’ are not
seen in the same linev’ resulting in a blurred image of one or the other.
2.5 Booking is entering all survey measurementsv’ in a tache bookv' and
arranging them in such a manner that any surveyor may produce a map from
them.
(5x2)  [10]
QUESTION 3
3.1 e From the site boundaries
e measure out the proposed building
e Increasing the area by +1 m.
e Punch in two pegs (+2 m long pegs) 1 m away
e from each corner
e in line with the building line in all four corners.
e Because of the length of the pegs, a traveller of 1,5 m would be
appropriate.
e The formation level plus/minus the benchmark
e plus the length of the traveller
e Wwill give the staff reading on all the sight rails of the eight pegs. (10)
3.2 e Reading the staff upwards instead of downwards.
e Reading an inverted staff downwards instead of upwards. (2 x 2) (4)
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3.3

3.4

BUILDING AND STRUCTURAL SURVEYING N5

Each side = v25 m2v’
5mv
5000 mmv

5000 mm/200v
25 mmv

e T[he contours are closer together when the terrain has a steep slope.
e The contours are further apart when the terrain has a gentle alope. (2 x 2)

QUESTION 4

4.1

4.2
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Set the instrument on equal distances

between two pegs A and B

that are + 600 m apart on a fairly level ground.

Take staff readings at A and B and find the difference in height.

Set the level closer to peg A and take staff readings,

If the difference in height in both instances

IS the same, the instrument is right

but if there is a difference then the difference is used to adjust the
collimation line until it is horizontal.

e The adjustment is done by using the diaphragm adjusting screws until the
staff reading is as calculated.

ADDENDUM - TABLE
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